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No-Code Diagnosis of Driveability Concerns 
Meets NATEF Task:  (A8-B-6) P-1  Diagnose the causes of driveability concerns resulting from 

malfunctions in the computerized engine control system with no stored diagnostic trouble codes.  

 
Name _______________________________   Date ___________  Time on Task __________ 
  
Make/Model/Year _________________   VIN ________________   Evaluation:   4    3    2    1                      

  
 
_____  1.  Check service information for the specified procedures that should be followed when  
                 diagnosing a driveability-related concern without any stored diagnostic trouble codes. 
 
  __________________________________________________________________ 
  __________________________________________________________________ 
  __________________________________________________________________ 
 
_____  2.  Which driveability concerns are being diagnosed? (Check all that apply.) 

 
 ____  Hesitation during acceleration 
 ____  Rough or unstable idle 
 ____  Stalling 
 ____  Missing 
 ____  Other (describe) _______________________________________________ 

 
_____  3.  Based on the results of the scan tool diagnosis, what is the necessary action? 

 
__________________________________________________________________ 
 
__________________________________________________________________ 
 
__________________________________________________________________ 
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